
UPN Res09 Res08 Yearbuilt

1 50000 50000 1964

2 40000 40001 1953

3 355000 355033 1978 <-multiple rows with UPN=3

3 3849 3850 2003

4 2948 3000 2005

5 9583 9583 1999 <-multiple rows with UPN = 5

5 5000 5000

5 9583 9584 1993

6 600 600 2001

UPN Res09_1 Res09_2 Res09_3 Res08_1 Res08_2 Res08_3 Yearbuilt_1Yearbuilt_2Yearbuilt_3

1 50000 50000 1964

2 40000 40001 1953

3 355000 3849 355033 3850 1978 2003

4 2948 3000 2005

5 9583 5000 9583 9583 5000 9584 1999 1993

6 600 600 2001

Original

Consolidated Rows

Goal: Make UPN a primary key in Access without deleting the duplicates and losing information.


